# PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated		10,000.0	1,150.00	11,500,000	lbs.	\$6,325,000
Lint - Non-irrigated		8,200.0	900.00	7,380,000	lbs.	\$4,059,000
Seed - Irrigated		10,000.0	1,840.00	18,400,000	lbs.	\$920,000
Seed - Non-irrigated		8,200.0	1,440.00	11,808,000	lbs.	\$590,400
Cotton (Total)	18	18,200.0				\$11,894,400
FORESTRY						
Pulpwood						
Pine				34,851	cords	
Hardwood				40,473	cords	
Pulpwood (Total)				75,324		
Chip & Saw				2,472	cords	
Saw Timber						
Pine				25,351,104	board feet	
Hardwood				1,864,325	board feet	
Saw Timber (Total)				27,215,429		
Total Pulpwood, Chip & Saw Saw Timber FOB Mill	7,					\$18,619,714
Total Forestry Stumpage						\$11,451,015
Christmas Trees	7			1,100	trees	\$44,000
Pine Straw	*				bales (40 lbs.)	\$500
Forestry (Total)		0.0			,	\$18,664,214
FRUITS						, , ,
Blueberries	8	12.0	2,850.00	34,200	lbs.	\$42,750
Mayhaws			,	,		
Orchard	*	6.0	210.00	1,260	lbs.	\$1,890
Mayhaws (Total)		6.0		,		\$1,890
Muscadines		-				

### PLANT ENTERPRISES PRODUCTION

		PLANT EN	<u>TERPRISES</u>	PRODUCTIO	<u>)N</u>		
	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FRUITS							
Fresh	6	22.0	150.00		3,300	gals	\$26,400
Muscadines (Total)		22.0					\$26,400
Peaches	*	23.0	150.00		3,450	bu.	\$103,500
Fruits (Total)		63.0					\$174,540
FEED GRAINS							
Corn	31	16,300.0	135.00		2,200,500	bu.	\$4,995,135
Feed Grains (Total)		16,300.0					\$4,995,135
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	24,000.0	5.00	Yield / sq. ft.	120,000	lbs.	\$162,000
Greenhouse Vegetables (Total)		24,000.0					\$162,000
HAY FOR SALE							
Alfalfa	*	100.0	5.00			tons	\$65,000
Grass	25	5,000.0	3.00		15,000	tons	\$750,000
Hay for Sale (Total)		5,100.0					\$815,000
HOME GARDENS	19,500						\$5,850,000
NURSERY CROPS							
Floraculture & Bedding	10					acre	\$125,000
Plants							
Woody Ornamentals	*					acre	\$20,000
Foliage Plants	10					acre	\$20,000
Nursery Crops (Total)							\$165,000
PECANS							
Improved	6	700.0	250.00		175,000		\$227,500
Native	75	250.0	150.00		37,500	lbs.	\$37,500
Pecans (Total)		950.0					\$265,000
SOD PRODUCTION	*	160.0				acre	\$864,000
SOYBEANS	26	9,500.0	30.00		285,000	bu.	\$1,769,850

PI.	$\Delta NT$	FNTFR	PRISES	PRODI	CTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Cabbage						
Fresh	8	3.0	400.00	1,200	sacks (50 lbs.)	\$8,400
Cabbage (Total)		3.0				\$8,400
Collards						
Fresh	10	2.0	600.00	1,200	doz. bunches	\$8,400
Collards (Total)		2.0				\$8,400
Eggplant	20	2.0	450.00	900	bu. (33 lbs.)	\$13,500
Irish Potatoes						
Fresh	30	30.0	100.00	3,000	cwt.	\$105,000
Irish Potatoes (Total)		30.0				\$105,000
Mustard (Fresh)	15	90.0	600.00	54,000	doz. bunches	\$378,000
Okra (Fresh)	25	10.0	175.00	1,750	bu.	\$43,750
Peppers						
Banana	7	1.0	275.00	275	bu. (25 lb.)	\$4,125
Bell	9	3.0	375.00	1,125	bu. (28 lb.)	\$16,875
Peppers (Total)		4.0				\$21,000
Snap Beans (Fresh)	8	15.0	120.00	1,800	bu. (30 lbs.)	\$45,000
Southern Peas (Fresh)	10	85.0	115.00	9,775	bu. (24 lbs.)	\$244,375
Squash (Fresh)						
Yellow Squash	10	7.0	70.00	490	bu. (45 lbs.)	\$7,350
Squash (Fresh) (Total)		7.0				\$7,350
Sweet Corn (Fresh)	10	25.0	900.00	22,500	doz. ears	\$78,750
Tomatoes (Field)	10	18.0	1,200.00	21,600	lugs (20 lbs.)	\$388,800
Tomatoes (Green Mature)	*	4.0	1,200.00	4,800	boxes (25 lbs.)	\$57,600
Turnips (Fresh)	16	60.0	1,200.00	72,000	doz. bunches	\$504,000
Watermelon	*	23.0	150.00	3,450	cwt.	\$27,600
Vegetables (Total)		378.0				\$1,931,525

# PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
WHEAT	6	1,850.0	50.00	92,500	bu.	\$300,625
TOTAL ALL PLANT ENTE	ERPRISES	,		•		\$47,851,289

#### FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	10	600 A	Acres in Prod.	21,500	lbs.	\$12,900
Catfish (Farm)	*		Acres in Prod.	100,000		\$68,000
Minnows	*		Acres in Prod.	2,500		\$8,125
Fish bait	*			24,000		\$144,000
Other Species	*	40 A	Acres in Prod.	28,000		\$224,000
Aquaculture (Total)				,		\$457,025
FRESHWATER FISHERIES						
Crawfish (Wild) **	15			45,000	lbs.	\$26,100
Freshwater Finfish **	15			22,500	lbs.	\$7,200
Freshwater Fisheries (Total)						\$33,300
FUR ANIMALS				248	pelts	\$1,820
ALLIGATORS (WILD)				75	ft.	\$1,575
HUNTING LEASES						
Waterfowl	30	4,500 N	No. Acres		acre	\$225,000
		I	Leased			
All Other Game	20	8,500 N	No. Acres		acre	\$46,750
		I	Leased			
Hunting Leases (Total)						\$271,750
HONEY	6	15 N	No. Hives	2,150	lbs.	\$1,591
TOTAL ALL FISHERIES & Y	WILDLIFE ENTERPRISES					\$767,061

<sup>\*\*</sup> The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

### ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value

CATTLE & CALVES

### ANIMAL ENTERPRISES PRODUCTION

A ' 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			2,000		\$885,780
400-500 lbs.			4,500		\$2,271,645
500-600 lbs.			2,000	head	\$1,118,150
600-700 lbs.			1,200	head	\$764,400
Steer Calves (Total)					\$5,039,975
Heifer Calves					
300-400 lbs.			2,000		\$806,330
400-500 lbs.			4,500	head	\$2,092,838
500-600 lbs.			1,250		\$659,794
600-700 lbs.			1,000	head	\$598,000
Heifer Calves (Total)					\$4,156,961
Yearling Cattle					
600-700 lbs.			600	head	\$382,200
700-800 lbs.			1,400	head	\$966,000
Yearling Cattle (Total)					\$1,348,200
Cow-Calf Pairs			500	pair	\$475,000
Cull Cows			3,000	head	\$1,231,905
Cull Bulls			200	head	\$183,690
Cattle & Calves (Total)	260	22,500 No. Cows			\$12,435,731
HORSES					
Brood Mares					
Race Horses	42	600 No. Brood Mares	300	head	\$2,400,000
Show Horses	75	150 No. Brood Mares	80	head	\$280,000
Recreation Horses	10	50 No. Brood Mares	30	head	\$45,000
Brood Mares (Total)					\$2,725,000
Stud Fees					

ANIMAL ENTERPRISES PRODUC	CTTON
---------------------------	-------

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
HORSES						
Race Horses		10 No	o. Stallions	250	mares bred	\$500,000
Show Horses		12 No	o. Stallions	200	mares bred	\$300,000
Recreation Horses		10 No	o. Stallions	250	mares bred	\$50,000
Stud Fees (Total)						\$850,000
Race Horses	20			200	head	\$2,000,000
Show Horses	75			1,500	head	\$6,000,000
Recreation Horses	300			3,200	head	\$4,800,000
Horses (Total)						\$16,375,000
QUAIL	*	1,500 No	. Breed	500	each	\$1,000
		Sto	ock			
SHEEP						
Slaughter Lambs				2	head	\$244
Feeder Lambs				2	head	\$120
Show Lambs				2	head	\$550
Stocker Sheep				2	head	\$150
Cull Sheep				2	head	\$110
Sheep (Total)	*	12 No	.Breeding			\$1,174
		Ev	ves			
GOATS						
Show Goats				20	head	\$3,700
Slaughter Goats				200	head	\$21,000
Stocker Goats				25	head	\$2,125
Cull Goats				25	head	\$1,500
Goats (Total)	10	250 No	o. Does			\$28,325
SWINE						
Show Pigs				20	head	\$6,600
Feeder Pigs				40	head	\$1,840

# ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
SWINE					
Slaughter Hogs			20	head	\$3,120
Culls			10	head	\$1,120
Swine (Total)	8	35 No. Sows			\$12,680
EXOTIC ANIMALS					
Deer/Antelope	*	20 No. Animals	10	head	\$1,250
Exotic Animals (Total)					\$1,250
TOTAL ALL ANIMAL EN	NTERPRISES				\$28,855,160
<b>CADDO PARISH TOT</b>	AL				\$77,473,510